Date :- 14/03/2020 Duration- 2hrs Marks-100

Ques..on Paper for the selection of Goods Guard , GP Rs2800-(level-5) in Operating
depar-ment against departmental quota.

In« ructions to Candidates —

1) Question Paper is 100% objective with 4 options A,B,C.D.

2) Question Paper is in both English and Hindi

3) There is 1/3" negative marking for each wrong answer

4) Total 110 questions are there along with 19 optional questions of rajbhasha from 101 to
110. These 10 questions of rajbhasha are cptional , cancidates may or may not attempt
these questions.

5) Candidate needs to solve 100 questions . F ach question :s of 1 mark.

6) Mobiles/calculators/pagers are not allowec in exam hall Candidates may be debarred
for the same.

7) Candidates should not write their name, initials, signatures, hari om etc or any other
identification mark on the answer shect.

8) Only blue or black pens are allowed to ma k answers.

9) Incase of any ambiguity English portion o' the test shouid be taken as authentic.

10) No corrections are permitted in the answer sheets. In case any correction is made
answers may not be evaluated at all.

11) Answers to first 100 attempted questions cut of 110 will be evaluated and excess
answers will not be considered.

adier fader:-

1) ®R "ara objective & Sad 4 e §.

2) uH feedy 3R e # §

3) 1/3 negative #fdar &

4) 10 Hard TSTHET & & Je 5 optional

5) & HaTd | AP P & . 100 FaTHd $ TG < E.

6) #EEH , HoPored , Yo & Tl g F omar afsid .

7)  Answer sheet UY 3UaT ATH , &EARR etc o for® . &R MNFHetc 3 7 oW .
8) @l IR A 9 &1 & SECHTT W

9) maﬁsgﬁm@mmmmmm}m'mm

10) Answer sheet 0T &®Ig A1S A5 a1 HL

11) 100 ¥ SAET HATA 3R attempt Y A1z 30 #Ad a8 B srday .



1)

7)

ZEATRAE F2IF F T AT & {3l ATeraprivat & S gy 7 S o stran 272
Station working rules of interlocked station are i.sued with the joint signatures of whom?
(A) sr.dom and sr.dsc (B) sr.dem and s:.dste

(C) sr.dom and sr.dcm (D) sr.dom and =r.dste

YT FO U7 UL q GOl & qarerd qaTel AT F S5 F 2% T 7 R uaw g £
[T=AT 21T 91242 How much shoulc be the air prassure in the brake pipe of engine of a
passenger train at the starting station?

(A) 5.8 kg/cm? (B) 4.8 kg/cm? (C)8.0 k3/em? (D) 5.0 kg/em?

wrert F 2 ¥ e L fy a% v araw ff Fiwmr sgwa 2)
What mm of flat tyre is permitted in the wagon cf a goods train.
(A) 40 (B) 50 (C) 55 (D) 60

ST TS e oeg /T F7 % AL 1T a9 TS F29T WIee? 1 {29 § g9 a1 7 | i 41
forre wefora #39m Guard shall show hand by day and what signal by night to the S.M.
if the train is standing clear of foulir g mark?

(A) 5z ==t / White light

(B) g1 a<ft / Green light

(C) 7z a«it 397-+1 / White lamp ‘ertically up 2nd down

(D) gft <t 3uz &= / Green lamp vertically up and down

ot Frr @ i aftreraw wfa frady e 2

Maximum speed of ‘C’ class ODC +

(A) TFa=rer Tfd / Sectional speed (B)60kmph (C)40kmph (D)25kmph

TS &7 Fa?T R O 0 @ET T {6 T Fit g gl 87

Train passing signal at danger is which type of accident.
(A)fRatfia =g / Averted Collision (B)\T*Hfa+ AT /Indicative Accident
(C) SPAD (D)Iu<rsk § #15 %1 / None of these

e g i P TR et o 2

Maximum permissible speed is determined by whom. ?
(A) CTPM (B) PCOM (C)DRM (D) CRS

¥
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8) sreardt wig wiedat £1 sy e | 2t 2)
I nformation of temporary sf :ed restrictions is provided in ?
(A) SWR (B) WTT (C) T/409 (D) 3urew 7T /All of these

9) T & iz wET frm qw e e f2w i B v e frare?
In case of hot axle , pointsman shall show which signal by day?
(A) @T #ET / Red flag
(B) 2f1 =<1 3m7-#= / Greer. flag vertically up and down
(C) &tz @it 2 1741 / White lamp vertically up and down
(D) gf1 @<t 377-Hfr= | Green lamp vertically up and down

10) FETIAT £ Fa HET AATE 7
When is assisiing engine demanded?
(A) Power of a train fails/TET #1 £S5 % &1 T¢
(B)Train stalls n section */ &%= # ITET =T g T
(C)When whisile of engine fails/ =T o ot @ 219 77
(D) both A and B/ A 37 B 2141

11) 719 & 9T g4 et AT 3 AT T Suers 7 21 A "av Hehd G v § aqri?
If red light fails in hand signz! lamp, how the danger signal will be shown ?
(A) 2 @<t o T % ATa 2 919 W A F B FC violently waving a green light
horizontally ac ‘oss the body
(B)zft a<ft 3u= A= /Green iamp vertically up and down
(C) &the a1 3/ - /White lamp vertically up and down
(D) e 7T o777 ¥ |THA 715 919 W A A FAT F /violently waving a white light

horizontally azross the body

12) ﬁ?ﬁﬁmt@aﬂwwmﬁﬁmﬁ@ﬁwﬁmﬁmﬁmaﬁ@?

During day tim: medical relief van shall be dispatched within how much time from single

exit siding?.
(A) 30 f&=z /3C minute (B) 45 f&=e /45 minute
(C) 15 f&= /1€ minute (D) 20 f&== /20 minute

13) el T e SATe 3 T TEedt et Fif A et gri?
What is the speed of first train during temporary single line working ?
(A) 25 kmph (B) 30kmph (C) @mr=a/Normal (D) 15/10 kmph

#



14) ZTTATE TTATATT 2 F TEHA F FAHAT THOMTHTT T) 747 SE (Sig) F Z6a147 811 2 a7
Frae zFaraT fha ¥ g1 22 Gateman competency certificate of interlocked traffic gate is
signed-by Tl and &= (Sig) and counter signed by whom?

(A) DSO (B, ADSTE (C) AOM (General) (D) SSE (P.WAY)

15) sraFifud @rga 9% T 51 o % forr fe e s s e sirar g 2

Whict signal should be given to receive a train on obstructed line ?

(A) TeFTET fAet/co-acting signal (B) frdifer fanmer/ Repeating signal
(C) #1740 e f&wa /ealling on signal (D) =7 | &g 92T /none of .hese

16) |THTIT THEIT I AT AT #2or i o Arsa 9 foram Sram?
Normzilly the train with hot axle is admitted on whiéh line?
(A) 71 @TEA Nloop line (B) 7ts TfH @19 /non running line
(C) &Y 79 FI=TEA /common loop line (D) ¥ @TE4/main line

17) T " f &7 foFaar T g9 v 3% W97 gt 9 e ?
How miuch loss of Railway property will be considered as a serious accident?
(A) = 25 @ra ¥ yfIrF/more than Rs. 25lakhs
(B) ¥ 20F712 & 3ffer= /more than Rs 20crore.
(C) * 2 5%71g & wfers /more than Rs 25crore.
(D) = 2%%1g & AwfeF /more than Rs 2crore.

18) warae At § qfiadw e & g fama sman 22
Changss in subsidiary rules are done by whom?
(A) ¥=1 a1 / Railway board
(B) &frr ¥/ zonal railway
(C) et y&r TR=rw g+ / PCOM
(D) T==" wdT aT€ / Railway recruitment board

19) Fter Frfier Exert it ST P 8 6 et 22
Information about caution notice stations is given in?
(A) Sft & TH AT /G&SR (B) ge¥eAT farmasi/accident manual
(C)ezerT afdar & /SWR (D) Ffar er$w TaA/WTT



20} AT 27l ATEe 7 AT R 0 F o0 547 By srar 2 2

What is done for a train to pass through a non interloc < point?

(A) =9 at¥=T / use chain (B) F=d T==T# / only padloc
(C) #I¥7 7 T2 / clamp and pad ock (D) #:fr 71 /none

21 <hifom #rdft & fraar sfqoa fmar a2 2
What is the percentage mentioned in premium BPC’
(A) 98% (B) 95%
(C) 90% (D)100%

22, =1 FATH T2 9T ATE T ATER 777 27 F 18 gt @ o Fr i o7 ey 22

After granting line clear at a B class staticn, shunting ¢an be performed up to?

(A) =t F#9r /Block section (B)FERmfeRT #=er /signaling section
(C) ¥=9re1 ##9171/ station section 'D) 7kt / all of these

23} oifear 3 forg sferarme o= #797 €2 What is the authority for shunting?
(A) T/369(3b) (B) T/A602 iC)T/1410 (D) T/806

24) ITET I H Y AT TR TESHAT 1 @1 TIAE UF AT F A9 T A8 G2 F77
=T24? What should be exchanged by the pointsmzn with the train crew while train is

passing through the station ?

(A) @it TTE2 /ANl right (B) s+t T /all wrorg
(C)#a= grar/only hand (D) = 17T &3t / Red signal

25) FfE W FT T T gt Fwar g oS g e w22
How does Cabin master ensure that the train has arrived completely?
(A) &= &7/ Tail lamp (B) #= 4t /Tail board
(Cyuar#t /AOrB (D) Z% ¥ 1S &Y /none of these.

26) WTAT &9 § TTET § 9 919 Fgl A47T AT g 2
Where is brake van generally attached ir a train?
(A) T8 / in front 'B) sf&¥ # / in rear
(C)fer=r % / in between (D) #f2 9T ft / anywhere in the train

¥



14) ZETATF ATATITE T2 fﬁzﬁq%wmmﬂ 4T SE (Sig) F ZEATET 217 2 97
FTEz gETET o4 ¥ 219 §? Gateman competency certificate of interlocked iraffic gate is
signed by Tl and £= (Sig) and counter signed by whom?

(A) DSO (B, ADSTE (C) AOM (General) (D) SSE (P.WAY)

15) srarfud |rga 97 T A A F o e fre & wanr G srar g 2

Whict: signal should be given to receive a train on obstructed line ?

(A) we#TT faI«/co-acting signal (B) fefifear fan==1/ Repeatiiig signal
(C) #1741 s 8w« /ealling on signal (D) 399 § #TT 72T /none of .hese

16) HTHTT THYIT 7% ATST FT w29 T o s 9 fory stramm?
Normeilly the train with hot axle is admitted on which line?
(A) 71 4TEA Nloop line (B) At T @14 /non running line
(C) ¥ 17 g7ATEA /common loop line (D) 7 ATEA/main line

17) = A7 {1 #1 =T Ta|m g 92 337 57 gelear 947 Seen?
How much loss of Railway property will be considered as a serious accident?
(A) # 25 @ra 7 gfgF/more than Rs. 25lakhs
(B) ¥ 20F712 & 3far= /more than Rs 20crore.

(C) = 2571 & wfer= /more than Rs 25crore.

(D) * 27T ¥ s1firT /more than Rs 2crore.

18) waETaF At § afiadw e & g o s 22
Changss in subsidiary rules are done by whom?
(A) =1 4T / Railway board
(B) & rr ¥/ zonal railway
(C) weTH Y&I 9R=T= ya4+ / PCOM
(D) ¥==" sdT 97< / Railway recruitment board

19) Fter A e wror v e B & sreft 22
Information about caution notice stations is given in?
(A) St & TH 3T /G&SR (B) gHeAT fAamTasi/accident manual
(C)eeerT afdar 1 /SWR (D) afar arEw Sa=a/WTT



20} AT T2t ATEe 7 TELY Y S F oy aw Grar s 2 2

What is done for a train to pass through a non interloc < point?

(A) =+ at€=T / use chain (B) F= =1 / only padloc
(C) #¥7 7 T2 / clamp and pad:ock (D) #:f1 7T /none

21) it Jifieft § fraer wftera frar gar 2 2
What is the percentage mentioned in premium BPC'
(A) 98% (B) 95%
(C) 90% (D)100%

22 =t 7T €29 O AL Ay ATER e 29 ¥ A2 Fgt aw o i o e 22

After granting line clear at a B class staticn, shunting can be performed up to?

(A) =i% F%91 /Block section (B)RrmafeT &=ere /signaling section
(C) =291 H=9171/ station section 'D) &r+ft / all of these

23} <if&w F fory srferre w=r 77 €2 What is the authority for shunting?
(A) T/369(3b)  (B) T/AB02 (C)TH410 (D) T/806

24) ST LI H o AT G0 TESEAA T & T4 UF S F A9 Pt e T2 97
=124? What should be exchanged by the pointsmen with the train crew while train is
passing through the station ?

(A) =it 712 /Al right (B) &<t T /all wrorg
(C)#Fa= grar/only hand (D) =171 8w / Red signal

25) e AT T 7w AT g war f oS i ar w32
How does Cabin master ensure that the train has arrived completely?
(A) = &7/ Tail lamp (B) =1 912 /Tail board
(Cyuar#t /AOrB (D) =¥ # #r$ 7Y /none of these.

26) AT ®T F ATE F AT AT Fgl AT AT ?
Where is brake van generally attached in a train?
(A) FT9 / in front 'B) @< ® /in rear
(C)fa= & / in between (D) #fg 9¥ #¥ / anywhere in the train



14)

SITATE ATATAT 2 F TEHT F Huar YHrora=rqe T| @47 SE (Sig) F 2Eame 211 § a47
T3 gEare? A % 219 £2 Gateman competency certificate of interlocked iraffic gate is
signed by Tl and £:= (Sig) and counter signed by whom?

(A) DSO (B, ADSTE (C) AOM (General) (D) SSE (P.WAY)

15) sraifud @rga 97 T o & o e R a6 w9 G stz 2

Whict: signal should be given to receive a train on obstructed line ?

(A) Te#TT fee/co-acting signal (B) fdifear fanm=1/ Repeatiiig signal
(C) #1710 s+ f&wr« /ealling on signal (D) =¥ | &1z 721 /none of .hese

16) HTHTT THYIT I TST H7 w29 $it FF arga o o srmm?

Normeilly the train with hot axle is admitted on which line?
(A) F1 4TEA loop line (B) Afs T T4 /non running line
(C) & 19 F7@TEA /common loop line (D) 7 ATEA/main line

17) = | ft 1 fFaar 998 g9 92 37 797 gefear 947 S ?

18)

How much loss of Kailway property will be considered as a serious accident?
(A) = 25 @ T gfgrF/more than Rs. 25lakhs

(B) ¥ 20%7TE & ¥far= /more than Rs 20crore.

(C) = 2 5%%1g & wfer= /more than Rs 25crore.

(D) = 27Tz & wfera /more than Rs 2crore.

TaraF et § afadw e % g o smar 82
Changz=s in subsidiary rules are done by whom?
(A) =1 aT€ / Railway board

(B) &= ra ¥4/ zonal railway

(C) weTd q&d == yau® / PCOM

(D) T==" st aT€ / Railway recruitment board

19) Ftor 7 e ez v TR frer § & sl 272

Information about caution notice stations is given in?
(A) St & TH aT /G&SR (B) gHeAT fAa\TEi/accident inanual
(C)eeerT afdr & /SWR (D) afFar arEw Sa=a/WTT



20" ST TevetE wAtEe ¥ WET FT T F o7 727 FFar sar 2 2

\What is done for a train to pass through a non interloc« point?

(A) =+ afeAT / use chain (B) F== T=T# / only padloc
(C) F¥7 7 T21% / clamp and pad'ock (D) #:f1 721 /none

21 fifiery Fidfret & G wiqea T gmrz 2
What is the percentage mentioned in premium BPC’
(A) 98% (B) 95%
(C) 90% (D)100%

99\ Y FETH T2 I IS FT ATEA T T F AT Fogt s o F AT S AHAT 2

S After granting line clear at a B class staticn, shunting can be performed up to?
- (A) =t %919 /Block section (B)fERmfeRT #eFere /signaling section
(C) ¥=9r F#917/ station section ‘D) 7+t / all of these

23" eifér ¥ fora srferaTe o= F41 €2 What is the authority for shunting?
(A) T/369(3b)  (B) T/A602 (C)TH410 (D) T/806

24) TS RO H ammqﬁmﬁaﬁamwwmamwm ATEA TETd FAT
=122 What should be exchanged by the pointsmen with the train crew while train is

passing through the station ?

(A) witer 7T /Al right (B) =ite1 T /all wrorg
K (C)Fa= gra/only hand (D) =171 f&we / Red signal

25) A wTET T TE T iR Fwar ¢ 6 1T Ol e 27
How does Cabin master ensure that the train has arrived completely?
(A) = &1 / Tail lamp (B) = 1€ /Tail board
(Cyzar#t /AOrB (D) =+ & Fr§ Y /none of these.

26) AT &7 & TIE § 3F AT FgT ACAT A€l ?
Where is brake van generally attached in a train?
(A) T8 / in front 'B) emf@ ® / in rear
(C)fa= # / in between (D) #fg 7T «f / anywhere in the train

¥



27) <A Z2TATF Fial 97 F AET [o0d q077 AT A7 arfergany wfq Gragnir?
What will be the maximum speed of the train while passing the train from non-interlock
point?
(A) 10km/h  (B) 15km/h  (C)30 km/h (D) 50 km/h

28) SAEATE TAFAT AT FT 797 F47 27 What is the number of the temporary caution order?
(A) T/A1425 (B)T/A409 (C)T/B409 (D) T/ 409

29) IS F1 oY gT FohmwaRTT it AT 82
Derailment of a train is which t/pe of accident?
(A) Tt 7€ geeAT/consequential train accident
(B) @ITE gHeAT/ yard accident
(C) =ishfaa gee1/ indicative accident
(D) | geeT/ unusual accident
30) AT TETATEE T2 g9 U7 e 8 F 7T 98 g F SUAH § LI W FTT F47 FArea &
STTUAT =747 AT T F97 ATTHRT & [T T § T S0
What will take the Station mastar from gaternan in assurance of gate closed othenvise
what will be issued.
(A) Tz ¥+ %71 7|, 9747 / Name of gateman key
(B) wTEde Ha¥  "a®ar sreer / Private Number, Caution order
(C) e &7 faFanfiet dav, T2 &7 = T2uTH / Kilomater of gate, Diagram of gate
(D) FZTe< &7 ATH, TTET &1 579 =9¥ / Name of controller, Engine number of train

31) WIRAT F ATATAT FT ATEE FAT Ul AT AT FgeATdr g ?
Which type of block is consider2d when blocking of a section of line to all traffic?
(A) Power Block/ 91a¥ =T®
(B) Traffic Block/ &t st
(C) Power and Traffic block/ T 9T Stk sATH
(D) Corridor Block /=T sTa:

32) UF ET ATTAE TL HEF AT LATH T TF GEL BT 7L FLA T T T F9T Fgl A1l §
Place where trains and road cross each other is called as
(A)iTe/ Gate (B)#®Tf#T/Crossing
(C)awurZ / Level Crossing (D)X S/ Danger Zone



<7/

33) etfewr F 3 oz ferer 1 st & o v F o # F stferwe o st fre o
For passing shunt signa: at on during shunting, which authority will be issued?
(A) T/409 (B) T/369(23%) (C) T/806 (D) T/369(1)

34) eifér # srfirsay 7fF #11 £2 What is the maximum speed of shunting?
(A)8km/h (B) 15km/h (C) 10km/h (D) 25 km/h

35) et ATET #- siféw A srftwaw wfq fra 32
What is the maximum siunting speed of a goods train?
(A) 8 km/h (B) 15 km/h (C) 10 km/h (D) 25 km/h

36) FATH WIET § £ T A U oA d G0 Fhaey fies T2er S50 F7 T SEATT?
While attaching an engine to a passenger train, it shall be stopoed Yow much meter
before the rain?

(A)15m (B) 20m (C)10m (D) 25 m
37) oSt it 8 W ad H Ryorera fezamom |
In casz of 'rain parting, Guard shall show by night.
(A) Red / ama

(B) Green / &1
(C) Green signal vertically up and down/ &R &y 307 &
(D) White signal vertic: lly up and down/ &% @y 397

38) T/369(3B)? 29I WIFETGTT Fa FTHT FohaT SraT 272
Whern is 1/369(3B) issued?
(A) 1T 9 FT 97T Fd 79 / to pass a bridge
(B) @7 # g% @94/ while entering a yard
(C) i TreF frret % 31 & 4T #:<q 7% / to pass a stop signal in on condition
(D) =7 & #1 71/ none of these

39) GDR T HaAd 4T § ?
What is GDR? ‘
(A) e ETfea faé/ growth domestic report (B) = gTza R1é / good driver report
(C) wT€ grza< 3% / guard driver check (D) € T+ e / guard down report

¥



40) GOR fAftero & w1t o 3t wrdft £ 2
What all is ch:cked during GDR?
(A) Coupling/ Fafer
(B) Train relecsed/ Tt feefier g o 7
(C) hose pipe 'eakage/ 2 aTzT fors
(D) all of the above/ 397 F a+ft

41)  FFT A FFT AT ATATE 2
VWhere is bankt er engine attached to a train?
(A) W ¥ /in -he middle
(B) e £ 9/ in the rear
(C) st £ 7/ in the front
(D) 2T ¥t =TT ST FFar 2/ anywhere

42)  wr AfET S F7T Fe Srar g 2
Where is assisting engine attached to a train?
() 7=7 # /in the middle
() 1% #1317/ in the rear
(C) st £ &7 / in the front
(C) 2T ¥t &2 T 57 /a1 2/ anywhere

43) ATTATT EIeF % Fzad 22 / Which is traffic gate?
(A) T #T 7. 3i=¥ B9 / placed inside of station limit
(B) &9 % argre ot % = furei/ placed inside cutermost signal of station
(C) wzer % argy ™ v faret % = fera/ placed inside outermost stop signal of

steition

(D) 3aZrss 7+1/ all above.

44) F(F I T IS TS FIA G0T ST AL F B a12a7 F 82 5 709 S0er?
How many wagon’s hand brake pinned down at both end, while stabling box load?
(A) 10 -10 (B)5-5 (C)6-6 (D) 50%



93

45) ST U AT & A AT T G WL A 7y 7 w2 2 A it e Tl ATAT FAT?
While shunting a complete train from one line to “ e other, shunting supervisor shall be
present in the?

(A) 99 F 5T F #/ in front cab of engine (B) @r#=T+ #/ in brake van
(C) =517 F fr== F4a ¥/ in rear cab of engine (D) =49 | #T 921 / none of these
46) =Y AT F1 TEIHT R o R ST 22 For whe t purpose is Banner flag used?

(A) TTET F9T & 77 / to start the train

(B) 7TET 71#+ & f7 / to stop the train

(C) TTET T 7% & TET FAT F 217 / te stop and urg 2ntly start the train
(D) =7 & 1 7E1/ none of these

< 47) 779 F FHT THT I €Y aedt REme |
Which aspect is shown by Gate mar; at night?

(A) THE/White (B) 271/ Green
(C) =11/ Yellow (D) =¥ ¥ % £ AZiNone ot these

48) w29 ferfie #97 22 What is station limic 2
(A) stro=E & fasreft ©f@q W/ powerioss portion of OHE
(B) aTzra® faaeii % == FT 979 / section between outermost signals
(C) aTgra® e f&u=t % &= F1 w1 / section between outermost stop signals
(D) 9w @+1/ all above

49) What is the full form of BPAC? BFAC #1 q#%Y fefia® 2
<& A) Block Proofing Axle Counter / =T  RET Uereer sTa=et
B) Block Proving Axle Counter/ =te: Yfe T Ut Frgvet
C) Big Prowing Axle Counter/ fa T Tifsir useer asravex
D) None/ #ifar 7t

50) What is the full form of NI ? NI =7 qei= 7 ferferd 2
A) Nine Interlock / AT ZeTei®
B) Non Interlock / A $aTeATh
C) No time / AT 219
D) None/ #ifa afg



51) What is the full form of BSLB? BSLB #1 T=&7 ferfar 2
A\) Block section limit board/ At #=#9r f. Wz 412
B) block limit board/ =t ffiz ar$ ’
C) block side limit board, =i #arze fafie a1
D) none/ #1f7 7fg

52) What is the full form of TSL = TSL &1 7% 1 ferfa 2
A) third sleeper class / 98 =¥ F47T9
B) temporary sleeper class/ ¢TI 197 719
C) temporary single line / 2r ¥ f&wrer @rz=
D) none/ &I afg

53) Who was the first Prime Minister of India? ST F7 Taw TeT W3 F1 o 2
A) T 2157 gTET / Lal bahadur Shastri

B) 9¥&TT a=ATE 92 / Sarcar Vallabhbhai Patel
C) statgTare Ag= / Jawaharial Nehru
D) none/ F1f 781

54) Which state has a coastl'ne? =@ & & a1 TT 9% 10 17 8 ?
A) Maharashtra B) Haryana C) Telangaixa D) Assam

55) ZeTeHT w29 fo 7197 § At i 2 Itarsi station is in which state
A) Maharashtra B) Madhya Pradesh C) Rajasthan D) Chattisgarh

56) TTaHT 94 9@« f&F TT § § ? Aravali range is in which state?
A) Punjab B) Tamil nadu () Rajasthan D) Chattisgarh

57) g1 {2 & i st rgafd e % &1¢ 92 ard 3 2 Recently which American President
came to visit india ?
A) Barak Obama/ a¥Te SiraTar
D) Donald Trump/ EETeE T8
C) George Washington/SItst =TfoRTeas
D) none/ #1far 78



58) =RTLHT 21478 § F97 % fory #77 FIAT A124 2 How to be safe fron. Corona Virus ?
A) Wash hands regu rly/ Fafia =7 & zra sy
B) Avoid going in crowded places/ SaTaT sftg areft surEt a7 a7 s

C) in case of cold an cough take doctors advise/ T4F THTH BT AT ST e
D) all of the above / = 97 F a+ft

59) Statue f unity f# 7 51 & feaa €2 Statue of Unity is located in which state?
A) Maharashtra B) Haryana C) Gujrat D) Assam

60) =T I T F9 AL AT TR HSA § g 2 Which city below is located in Nagpur civision
A) Akola B) Bellampalli C) Wardha D) Amravati

61) AT 11 % S H=A ¥ TauF F14 £ 2 Who is DRM Nagpur ?

A) Some:sh Kumar/ STasr 01T
B) Saga - Kumar/ &7 F912
C) Sach n Kumar/ #fx = ame
D) none / #1f7 afg
62) TH% & % 27 @reT w57 #1947 £ 2 Name the smallest state in the tollowing?
A) Assain B) Meghaleya C) Sikkim D) Tripura
63) |TEAT TE AT 9 @ & X ¥ ? Saina nehwal is related with whica game?
e A) Crick2t B) Tennis C) Badminton D) Football
=y
- 64) g+ faw @« & 721 § 2 Harmanpreet kaur is related with v/hich game ?

A) Crick:st B) Tennis C) Badminton D) Football

65) W HIFT F78 @ 7 TE1 & ? Manu Bhaker is related with which game ?
A) Crickst ~ B) Tennis C) Badminton D) Shooting

66) g-fier @ Fi& &= ¥ §F § 2 Sunil Chetri is related with which game ?
A) Football  B) Tennis C) Badminton D) Shooting

67) g4 3 i orgwt % ofi=r 9pe ¥ ST a1t £ 2 Bullet train will run between which cities?
A) Mumbai and Pune B) Chennai and Bangalore
C) Delhi and Chandigaah D)Mumbai and Ahemdabad
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68) FTIET 9T WA F {757 & ATeA STt 22 Marathi is the primary language of which
state?

A) Telangara B) Andhra Pradesh C) Maharashtra D) both A and B

69) ==AT foerd &7 H#47 7 927 g0 § ? Chandrayaan mission is associz ted with which
organization?
A)IIM B)I“L CNITI D)ISRO

70) =7 @4 § 7 = wea & wgafa 7€t 4 2 From below who was not the president of INDIA?
A) Rajendra Prasad/ Tz Y912
B) Dr. Abdui Kalam / =Y. 3sga #aTH
C) Ramnath Kovind/ Tr9=T Fifde
D) Lal Bahadur Shastri/ @ agrg¥ omeait

71) \fz=T f@@® a3 7A747 14T § 2 When is International Wemens Day celebrated
A)8 January B)18 January C)26 February D)8 maich

72) forer feaw fam#r (=7 g1 € 2 Who is associated with Te:achers Day?
A) Dr. Rajen.ira Prasad/ Dr. T/5ig Y912
B) Pandit Jawaharlal Nehru / 9fea SaTgeeTe 9g%
C) Dr.Sarvepalli Radhakrishnan / 8f @duedll I41gevT
D) Lokmanya Tilak / frsaT=7 e

73) dréeEns fE @emT & S[ET gar § 2 Pointsman is associated with which department?
A) operating/ TR=TET B) accounts/a@T
) engineering/ gshfaafar D) personal/ F1fi=

74) &9 T faamr & S[=T ga 2 ? Trackman is associated with which department?
A) operating/ Tf=TaT B) accounts/@@Tr
) engineering/ AT D) personal / #Tfde®

75) AeFere SEe e T ST g 2 ? Welfare Inspector is associated with which
department?
A) operating/ TR=TET B) RPF/ g&r
3) Engineering/ SHff=fRar D) Personal/ 1
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76) =TT T e e & g g4 2 ? Loco Pilot is associated with which department?
A) operating/ Tf=TeT B) TRS OPERATIUN/ Fvr Fevata: (7fv=merm)
C) engineering/ ZSfiffaf¥T D) personal / #1fif=

77) 2= AT F e & =1 gar 2 2 TXR s acsociated with which department?
A) operating/ Tfr=TeT B) Mechanical / =3
C) engineering/ ESfiffafiar D) parsonal/ #1fi =

78) A train covers a distance of 500 Kris in 4 hours. What is the average speed of the train?
Uh aTEl AR " # 500 fhelt werdt B ar o & Svea ot feah aeh
(A)150 Kmph (B)125kmph (C)100km:ph (D)300kmph

79) A 3k B d@ @1 3iR 700 feelt B Rt oft Rew w far 53 50 Pty ofy @ e
deferaretl ga foaa Fe 3 gt @@ @h 2 The distance between A and B is 700 KMS. A train

running with 50 KMPH speed without : topping at any station will cover the distance in how
much time?
A) 14hour B)12hour C)i16hHur D)10hour

80) U v AR o 200 B & 7 e o fU B 3R 8 Rae 5.150 v & Raw 3

femer @t el @1 ua et Toft wew @ 2 A station master has issued 7 tickets of Rs. 200
each and 8 tickets of Rs. 150 each. How ‘much amount he collected by the sale of tickets?
A)2500Rs. B)4000Rs. C)1400Rs. D)2600Rs.

81) fordl St 3R |t areel F ST FRRA ¥ A s wraR ufaera feaar @ I all
cylinders of all wagons are operational vhat will be the brake power of that train?
A) 90% B) 100% C) 95% D)50%

82) ®IfA IMEN 39X 100km A 4 G 3 UR HFY E A TR AFY e @i

If a vehicle covers a distance of 100km in 4 hrs whats will be its speed?
A) 100KMPH B)20KMPH C) 50KNPH D) 25KMPH

83) ggd MR wel Rard R...... Kutub minar is located at

A)Pune B)Agra (D)Hyderabai  D)Delhi
84) AR HeA W ... 1e #a9 HIgE if ... Ghat section are available in Nagpur division.
A) DH_Q-MJY (B) BPQ-BUPH
C) TEO-CCD (D) Both A and C

85) UG B @ fbwa 5.3 £ a7 g ol Bl fbaa @ gl 2
A banana costs Rs. 3 what is the cost of 7 dozen bananas?
A)400Rs B)252Rs: @)21Rs. D)84Rs



g6 .l onf¥d @lerft 21 major penalty is
A)SF-11 B)SF-5 C)SF-2 D)SE-1

87. v +fiT greeAT #41 2 ? What is a serious ccident ?

A) loss of railway property of more than 2 c-ore /Y& @Fufd &1 2 & & 3HAS H FIHA
B) loss of life / 5/ gifel

C) grevious injury / grde dle

D) all of the above / 30X & @

88. {ey Vol H fpaa fSdr= 3?7 How many division are in Central Railway?
A)6 B)7 )5 D)4

89. Which is the interchange point between Nagpur and Secundrabad division ? ATTgY iR
RheTare #zd & drg & Seld~of Wise Pl &2

A) Dhamangaon/ar#adiia B)Ballarshah/ acemsie

C) Chandrapur/ IgqX D)Nagpur/ ST9Tg

90. Which station is in Nagpur division? ®l=ar Teua ARG #sel H €7
A)Kalmna  B)ltwari ”) Godhni D) Kamptee

91.0DC @1 gawu =1 & ? Fuliform of ODC

A) Over Dimensional Consig iment/3ffeR 2T @ieide HHeAT
B) One Dimensional container / @ SIHRIA B
C) one Dimension Consignment/ @ 3RIFAA HHHC
D) none / $& A

92. Which station has a Crew Funning Room in Nagpur division? AT #sel & 31 # &
Plad T W T §F & ?
A)Badnera/ aga1 B) ltarsi/se@l  C)Ballarshah/ aeaiefie  D)Gondia/ 7iffen

93. Which station is not i Nagpur division? ®lerar T2 AR #isel # ¢ &2
A)Dahegaon/ &g B)Yenor/I=R
C) Bharatwada/#aaret D) Tumsar/gaat

94) What is the full form of T1 % TI &7 TH&w fed ?
A) Time Inspector / ZTET S8
B) Travelling Inspector ! ZTaaITeT SEIFeT
C) Transportation Inspe:ctor / ZFETIELT TETFT
D) None/ it -‘-rf‘é'
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95) GDR. % #4T 9Td1 2 ?

When is GDR ¢ nducted ?

A) after loading’ #2149 ¥ aTg

B) after unloadi:ig/ 37T ¥ arg

C) after crew ct. anging/ #f¥es ag=+ F a1
D) both A and B

96) < Frfieft & fore witvers Frar g £ 2
Wihiat is the perc entage mentioned in intensive BPC?
(A) 98% (B) 95%
(C) 90% (D)100%

97) =1 7€ wfe Frfieft & frawr wfera frar Srar g 2
Wr at is the percentage mentioned in Closed Circuit BPC?
(A) 98% (B) 95%
(C) 90% (D)100%

98) xfiferafear iz o: Fwrdve Faf=rdy fr foramr 7 g £ 2
The person who works on engineering gate belongs to ‘whicn department?
A) operating/ 9 V=TT B) accounts/e@ET
C) engineering/ SSfaf¥aT D) personal / F1fi+

99) Zr= 7 A fore faramr & " g 2
Tcwer wagon is associated with which department.
A) operating/ Tfv=Ta B) TRD/ &t faqvor
C) engineering/ SStifaafar D) C&W / =it

100) What is the fult form of ART ? ART =T qr&y ferferr 2
A) Accident Right Time / tf3 ez Tz o120
B} Accident Report Time / uf¥gge e ez
C, Accident Relief Train / tfdmse fiefis &
D} None/ #ifa =fg




101) 715 o7 79 F 78T o & o 7 arar 8
A)F B)I OF D :

102 ) 775+ T 929 F SqEm #3d F5E o ° aar E
A)F B)W )7 DF

103 ) 15T o7 99 & SAaTe oty weor o o § anar g
A)& B)W )7 DF

104 ) Trord ot a9 F o Iav=a 6T o | enar @
A )& B)E C)7 D

105 ) TreraTaT A & sqame fage e o o arar &

A)® B)& C)7 D

106) a1 |6 T TTSTSTIT 4T 82
A)zaarrdT faft 5 241 B) 3ffwer C)sMiAs® B D)INONE

107 ) Toregra st i sredl srqg=1 | Fadr arod |itafea 272
A)22 B)2) C)15 D)27

108 ) H=d & FTATAT £T TSTATAT FIATGAT AIUTT F AeTeqT A 2 ? ;
A) TTSTATIT ATUFTT  B)HES YT yAww  C)WEe FiHE ATHET  D)FIRA AL

109) dfarar €1 sredt =T ¥ 37§ § Fradr qray gt 78 g ?
Ayarr  B)zer@r  C) 3t D) @fesa

10 ) i B afuta F sreaer :19 g9 22
A) TETTHHT B)wrgufa  C) s wsft  D)FiE T&




